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The ratio between the present ages of M and N is 6:5 respectively and 15
years hence the ratio of their ages will be 9 : 8 respectively. What is M's

present age?

IT:- M 3R N T TAHT 37T T STTUATA SHAI: 6:5 3 15 I & HTCTT IThT
AT hT FTTUATA SHATT: 9:8 BTN M Sh TAHTT AT FATE ?
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The sum of present age of A, B, C and D is 76. After 7 years the ratiois 7 : 6 :
5 : 8. Find the present age of C ?

3qT:- A, B, C 3R D Y SAHT 3T RT3 |7aﬁ%aﬁagum7:6:5:8
g1 C T a7 T hl?
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The ratio between the ages of A and B is 2: 5. After 8 years, their ages will be

in the ratio 1:2.What is the difference between their present ages?

3qT:- A 3T B T T T ATUTA 2 : 5 T 8 W TS, ITehT ATT 1:2 o FIUTd H
BN SRt TAHT Y H foraa e 22
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The ratio of the ages of A and B 7 years ago was 3 :4 respectively. The ratio of
their ages 9 years from now will be 7: 8 respectively. What is B's age at

present ?

3qT:- 7 AW TS A 3T B Y 3T T STTUTA SHA: 3:4 oT| 37T | 9 TH TG IAh!
3T T SFTTATA SHAIT: 7:8 FW| TAHTT § B hY 1T AT 82

A. 23
B. 26
c. 25

D. 28




The ratio of the ages of A and B at presentis 3 : 1.4 year earlier the ratio

was 4 : 1. The present age of A is :

IqT:- TAATH | A 3T B <Y 37T T TTUTE 3:1 21 4 TH Uge 98 7T 4:1 9Tl A
T FAHH AT &
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The ages of A, B and C are in the ratio 5 : 6 : 7 and the sum of their ages is 72.
Find the ratio of 10 years ago B age to C age after 10 years ?

34T~ A, B 3R C <kt 3T T AT 5: 6: 7%ﬁﬁmw@l 10 T
Ul B <hT AT RT 10 o9 A1 C Y AT W ATUTA AT 11T 2
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The ratio of ages of A and B is 3:5 and the sum of their ages is 80. After 10

years, what will be the ratio of their age?

3qT:- A 3R B Y AT T AT 3ﬁ'{3‘-|?=h°r311'gam| 10 99 1S,
ITEhT ST ST U T BT

A. 2:5

B. 3:4




Q:-8- Present age of A is equal to B’s age 8 years ago. Four years hence,
the respective ratio between A’s age and B’s age will be 4 : 5 at that time .

Whatis A’s present age?

IqT:- A ST TAHT AT B hT 8 TH & T o TR | IR I ATE, 39 90T A i
AT 3T B <hY 37T o Sl T SATUTA 4:5 TR A Y TAHTH AT T 72
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Q:-9 - 10 years ago, the ratio of age of A and B was 3: 2 and after 10

years, their ages ratio will become 5 : 4. Find the sum of their present age ?

10 T UEEA, A 3R B T 31T T SITUTH 3:2 AT 3R 10 T IATE, 3T AT T
HTUTA 5:4 T AT ITRT TAHTT AT ST AT [T T 2
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Q:-10 - Five years ago, the ratio of the ages of A and B was 2 : 3 and after

S years it will become 5 : 7. Find their present ages ?

Ui 99 TS, A 31X B T 31T T SATUTA 2:3 9T 3R 5 99 a1 IE 5:7 &1 A
ST TAHT ST A HITATY ?

A. 36 yrs, 52 yrs.

B. 37 yrs, 37 yrs. H-w
c. 35yrs, 51 yrs.

D. 45 yrs, 65 yrs.




Q:-11 — Suman was married 6 years ago. Her present age is 5/4 times of

the age at the time of her marriage. Her son’s age is 1/10th of her present

age. What is the present age of her son?

GHA T IMET 6 1T Uge g3 AT IHhT TAHTT IH IThT IMET o AR hl IF T 5/

4 7T §1 3Hk T ST AT IThHT TAHTT 1T 6T 1/10 § 38k T Y TAHH 31T
T R?

nz
A. 3 years
B. 5Syears
c. 8years

D. 6 years



Q:-12 — The sum of the ages of father mother and son is 96 years. But
after 8 years mother will be thrice of her son and father will be sum of the

ages of mother and son together. Find present age of mother?

IaT:- TOaT ATaT 3R U1 T 31T T AT 96 T 3| AAfeh 8 AT 18 | ehl T
U I T I AT ERIT SR FUaTeht ST AT 3R 9 T IH /1 RT EWI) AT <Al
TARTT AT AT ki oTa?

A. 30 years

B. 45 years

c. 37 years

D. 36 years



Q:-13 — A is as much younger than B as he is older than C . If the sum of

the age of B and C is 52 years, then find the present age of A ?

I~ A, B | 30T € BYer § ™aar a8 C a9z 71 afg B 3R C 6t sy ot A
52 99 8, AT A 1 TAHTT ST AT hIT0?

A. 30 years
B. 26 years

c. CND

D. 35 years










